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What are you reading right now? - Find the
present continuous verb.
(1) reading right (2) you reading

(3) reading (¥) right now

We were prevented ...... The patient.

(1) to see (2) from seeing
(3) to seeing (¥) to saw

1 didn’t know since how long she....... there.

(1) was sitting  (2) has been sitting
(3) had been sitting (¥) has sit
She...... her homework yet.

(1) does not finish

() did not finish

(3) is not finishing

(¥) has not finished
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(1) 5 (2) A (3) w0l (¥) wwsl
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(1) B () w21l

(3) A221RL (¥) ala21L
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(1) 2ol (R) d=adl (3) el (¥) Gua
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(1) awll () »watdl  (3) wsdl (¥) ousdl
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[Aseu yzie s

(1) Guan (2) &l

(3 )aloll warul es  (¥) esal

‘VIERA AVE HIZ Vs A [Asa Ui 52.
(a) wall =il (R) 15 Ust-l AR
(3) vidzel 1R (¥) »iua
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(1) 228 () Hudl (3) Ga (¥) ysiua
YAGUA’ 208 Hie s 4oy Aui-ul ure s3U.
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‘1Yo’ ACE AA A yzie 52

(1) vaviaud () su-l (3) gell () HRlas
29d) @i’ HI2 oflA Vsl A2y s yie
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(1) eug (R) A (3) audl (¥) salRy
‘DS 9 oilRal ol ASY {2 As [Asa
yie s2.

(1) stdRy () olmdl (3) A4 (¥) Hio
‘edol)’ AN2a =i?

(1) Brzel () ou\s;

(3) vidul vall eousald Ul

(%) HauAL seclr Ak
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(1) ardletn () sl

(3) 1A% (%) ¢z

‘diei’ ol AIciA] 2A0E 2114,

(1) dund 2l (R) e 22

(3) gndl va-t (%) 25l aule
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yel A1 9?

(1) Rl () so192 (3) il (%) U
“YUiag” A HI2 oilA Uslell A [Asai uRie
52\

(1) urvi
(3) w0

(R) yuel
(¥) AeLs
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dyRgy 87

(1) Al () Alun seiine

(3) ulefay uHdiqe (¥) Al

Acdaligns JiAd 2ile Gur 51Ra1 HIZ Slal)
Guaoi A1y B?

(1) siBan () A (3) wad (¥) sad
364 A5Ha BuAI oA Vsl sAI siRlHi
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(3) 24l Hyar (%) Akesl aUld Hival

v /
Y /,
y /
Y /,
Y/
Y /
y /
y /
<
A \
A\
A \
A \
A \
A \
A \
A \

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

AHslotell NE SN s3)?

(1) Hdse 32U (R) 4l el idun
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(3) ot (%) 25U
gogldd] aAcld UIS SAI A%AHT B?

(1) e9tlaole () seUes (3) daot (¥) 2AAM
A GIAU) UHIV) 1Y ciial) HAH AN Slel Ec)?
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(1) &ds () dlEfanes

(3) Al (¥) wetseuls
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(1) atwalin, xavedil@sd

(2) nsetlalfsd, wdua
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(3) Russiil (¥) Bulves
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